2. XEMPLAR POINTZ®,

XIMATHS TEST ON SETS SET-1

TIME : 1 HR. M.M : 30
1. Write {1/2, 2/3, 3/4, 4/5, 5/6, 6/7, 7/8 } in the set builder form. 1
2. Arethe setsA={x:xe Zand x*<4}; B={x:x e Rand x?-3x + 2 =0} equal? 1
3. Find : P(P(P(9))). 2
4. Suppose, A, A,, ..., Ay, are thirty sets each having 5 elements and B, B, ... B, are n sets each

10.

with 3 elements, let EOJAi =OB,-=S & each element of S belongs to exactly 10 of the A’s and

i-1 =

exactly 9 of the Bj’s. Then, find n. 2
Given A={x: x is aroot of x>-1 = 0}& B ={ x: x is a root of x?>-2x + 1 = 0} thenisAU B = A. 2

There are 200 individuals with a skin disorder, 120 had been exposed to the chemical C1, 50
to chemical C2, and 30 to both the chemicals C1 and C2. Find the number of individuals
exposed to (i) Chemical C1 but not chemical C2 (ii) Chemical C2 but not chemical C1

(iii) neither Chemical C1 nor chemical C2 4

LetA={1,2, 3,4}, B={1,2 3}and C = {2, 4}. Find all sets X satisfying each pair of conditions :

aXcBandXzC b.XcB XzBandXgzC c. XcA XcBandX cC 4

For any sets Aand B, showthat: P (A ~ B) =P (A) ~ P (B) 4

Prove the De — Morgan’s Law (AU B)'=A"'~B". 4
OR

Let A, B, and C be the sets such that AuUB=A U CandA ~ B=A ~ C. Show that B = C.
In a survey of 60 people, it was found that 25 people read newspaper H, 26 read

newspaper T, 26 read newspaper 1, 9QreadbothHad I, 11 reed bothHad T, 8 reaed
both Tad 1, 3 reed alll three nengogpers. Find:

(1) the nunber of pegple who reed at least are of the nengpgpers.
(1) the nurer of pegple who read exactly one nenspaper .

(xi1) the number of people who read exactlly two nenspeper . 6
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